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Question: 91

A storage administrator is reviewing NAS volume space allocation and is concerned that the
Snapshot copies that are recently created to protect the volumes are not storing the data from the
volumes. One volume contains over 20 GB of data, although the latest SnapShot copy contains only
198 KB of data.

In this scenario, which statement is true?

A. ONTAPreferences metadatawhencreatingSnapshotcopiesinstead of copyingdatablocks.

B. The Snapshot policy is defined to create the Snapshot copy with only the most recent data
changes.

C. ONTAP uses datafromall Snapshot copies when restoring ofthe volume s necessary.

D. TheSnapshot copiesare created by usinga background processthat takestimeto build.

Answer: A

Explanation:

Question: 92

You are creating daily SnapVault backups of a NAS volume that contains the data for your business
critical application. Youdiscover that corruption began two weeksago onthe dataonthatvolume.

In this scenario, which statement is true?
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A. Therestoreisdisruptive, andall of the most recent Snapshot copies are preserved.

B. Therestoreis nondisruptive, andall of the most recent Snapshot copiesare preserved.

C. Therestoreisdisruptive, and all Snapshot copies thatare olderthan two weeks are preserved.

D. Therestoreisnondisruptive, and all Snapshot copies that are olderthan two weeks are preserved.

Answer:C

Explanation:

Question: 93

Click the Exhibit button.
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Your customer wants to protect a volume and replicate it to a secondary volume. The customer has
tried to configure this relationship using OnCommand System Manager. Upon reviewing this newly
configured relationship, you discover that the configuration does not satisfy the customer’s stated
requirements.

Referring to the exhibit, what should you do to ensure that the volume is protected?

A. Deletetherelationshipandrecreateit.
B. Resynchronize the relationship.

C. Initialize the relationship.

D. Changethescheduletohourly.

Answer: A

Explanation:

Question: 94
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Which two cloud providers allow you to provision Cloud
Volumes ONTAP as a SnapMirror destination? (Choose two.)

A. Azure
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B. DigitalOcean

C. AWS
D. RackSpace

Answer:A,C

Explanation:

Question: 95

Click the Exhibit button.
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Rows Selected: 1

Youhave beenreceiving the lag status error notifications showninthe exhibit.
What mustyou dotocorrectthis problem?

A. Resynchronize the relationship.

B. Addascheduletotherelationship.
C. Fanouttherelationship.

D. Quiesce the relationship.
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Answer: A

Explanation:

NS0-527 Exam Dumps NS0-527 Exam Questions

NS0-527 PDF Dumps NS0-527 VCE Dumps

https://www.braindump2go.com/ns0-527.html



https://www.braindump2go.com/
https://www.braindump2go.com/ns0-527.html
https://www.braindump2go.com/ns0-527.html
https://www.braindump2go.com/ns0-527.html
https://www.braindump2go.com/ns0-527.html
https://www.braindump2go.com/ns0-527.html
https://www.braindump2go.com/

First Try, Firstfuss!  Braindump2go Guarantee All Exams 100% Pass One Time!

@Brahdumpz.g 0

Question: 96

Acustomer hasapplication data corruption onaLUN thatisinavolume with sixother data LUNSs.
The customer needs to restore the corrupted LUN from a Snapshot copy without affecting the other
SixLUNSs.

Which process would accomplish this task?

A. Use volume SnapRestore.

B. UseLUN mapping.

C. UsethevolumeSnapshot partial-restorefile.
D. Useasingle-filerestore.

Answer:D

Explanation:

https://library.netapp.com/ecmdocs/ECMP1196784/html/GUID-17286F40-08CA-4EB0-8788-
3F3F70D185C4.html

Question: 97

An administrator wants to use SnapCenter 4.2 to back up and restore both their VMware Horizon
environment and Microsoft SQL attached database.

In this scenario, which service account role should be configured to accomplish this task?

A. sysadmin

B. operator

C. backup

D. administrator

Answer: A

Explanation:

Question: 98

You want to determine the amount of cold data that can be tiered from a FabricPool-enabled
aggregate.
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In this scenario, which feature satisfies this requirement?

A. Inactive Data Reporting
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B. Information Lifecycle Management
C. Object Store Profiler
D. Auto Balance

Answer: A

Explanation:

Firstavailablein ONTAP 9.4, inactive data reporting (IDR) is an excellent tool for determining the
amount of inactive (cold) datathat can be tiered from an aggregate. IDRis enabled by default on
FabricPool aggregates. More important, you can enable it on non-FabricPool aggregates by using the
ONTAP CLI, to get visibility on how much you can gain by deploying FabricPool.

Question: 99

A customer is using SnapCenter and they want to see details about: 1.) unprotected databases
outside of resource groups, 2.) databases that have not been backed up during the report period, 3.)
databases that belong to a resource group for which backups have failed, and 4.) the database
SnapVault status.

In this scenario, which report type satisfies the requirements?

A. Backup Report
B. Clone Report

C. Plug-in Report
D. Restore Report

Answer:C

Explanation:

Question: 100

You are monitoring data protection relationships of type XDR using OnCommand System Manager
running ONTAP 9.5. In the GUI, you click Protection -> Volume Relationships.

Inthis scenario, which status in the Relationship State field must be displayed to ensure that the
relationships are working as expected?

A. SnapMirrored
B. Uninitialized
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C. InSync
D. Quiesced

Answer:C
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Explanation:

Question: 101

A customer wants to set up SNMP to monitor their ONTAP platforms. Because of security reasons,
they need strong authentication and data encryption?

In this scenario, which SNMP version satisfies these requirements?

A vl
B.v3
C.v2
D.v2c
Answer: B

Explanation:
Question: 102
Yourcustomer needstoactivate adestination SVM DR following a disaster.
Inthissituation, whichtwo actions should be performed? (Choose two.)
A. Shutdownthesourcecluster.
B. Fromthedestination cluster, breakthe SVM DRrelationship.
C. Fromthesourcecluster, breakthe SVM DRrelationship.
D. Start the destination SVM.

Answer:A,D

Explanation:

Question: 103

Youwant to modify the existing Snapshot copy schedule to allow for more granularity in your ability
torecover dataafteracorruptionorloss.

In this scenario, which two tools allow you to accomplish this task (Choose two.)
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A. OnCommand System Manager
B. OnCommand Unified Manager
C. NetApp SnapCenter
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D. ONTAPCLI

Answer:B,D

Explanation:

Question: 104

Which two configurations would be used to protect volumes in a production ONTAP system at two
different disaster recovery (DR) locations? (Choose two.)

A. SnapMirrorinafan-outtopology
B. SYM DRinacascadetopology
C. SnapMirrorinacascadetopology
D.SVMDRinafan-outtopology

Answer:A,B

Explanation:

Question: 105

You are asked to protect your customer’s Exchange environment. Youdeploy SnapCenter4.1and the
plug-in for Microsoft Exchange Server. While creating the backup policy, you select the Full and Log
Backupfromthelist of supported backuptypes.

In this scenario, what would the Full and Log Backup type allow you to protect within Exchange?

A. alldatabasesbutnotransactionlogs

B. all databasesandalltransactionlogs

C. alluncommittedtransactionlogsandall ofthe databases
D. alltransactionlogs but none of the databases

Answer:B

Explanation:

Question: 106

NS0-527 Exam Dumps NS0-527 Exam Questions

NSO0-527 PDF Dumps NS0-527 VCE Dumps

https://www.braindump2go.com/ns0-527.html



https://www.braindump2go.com/
https://www.braindump2go.com/ns0-527.html
https://www.braindump2go.com/ns0-527.html
https://www.braindump2go.com/ns0-527.html
https://www.braindump2go.com/ns0-527.html
https://www.braindump2go.com/ns0-527.html
https://www.braindump2go.com/

(@BrahdumpZ@@

First Try, Firstfuss!  Braindump2go Guarantee All Exams 100% Pass One Time!

Yourcustomerisrunning anolder clusterthat uses Data ONTAP 8.1
Cluster-Mode. They would like to create aSnapMirrorrelationship withtheirnew ONTAP 9.5 cluster.

In this scenario, what must the customer do to create the SnapMirror relationship?
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A. The customer can create a DP type SnapMirror relationship without needing to perform an
upgrade.

B. The customer mustfirstupgradethe Data ONTAP 8.1 Cluster-Mode storage array toatleast ONTAP
9.1 and then create the XDP SnapMirror relationship.

C. Thecustomer mustfirstupgrade the Data ONTAP 8.1 Cluster-Mode storage array toatleast ONTAP
8.3 and then create the XDP SnapMirror relationship.

D. The customer can create a XDP type SnapMirror relationship without needing to perform an
upgrade.

Answer:C

Explanation:

Question: 107

You are asked toimplement a DR solution to protect employee home directories on the primary
cluster. The solution should provide an PRO of one hour, disaster recovery and archiving configured
on the same destination volume of the DR cluster. Your solution should also reduce the amount of
secondarystoragerequirementsanduselower networktrafficonthe WAN links.

In this scenario, which NetApp replication technology satisfies these requirements?

A. SnapMirror-Sync
B. SyncMirror

C. MetroCluster

D. SnapMirror

Answer:D

Explanation:

Question: 108

A client has two regional offices that use SnapMirror cross-site replication to host disaster-recovery
mirrors for both offices. A co-worker at one office is requesting read/write access to one of the
volumemirrors. Youmustaccomplish this task withoutinterrupting dataaccessorreplication.

In this scenario. how should you proceed?

A. Create a FlexVol volume on the destination cluster sothatitis writeable forthe co-worker.
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B. Create a FlexClone volume based on one of the Snapshot copies at the destination so thatitis

writeable for the co-worker.
C. Break the SnapMirror relationship between the local and remote clusters, and make the

destination volume writeable for the co-worker.
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D. Modify the export policy on the destination mirror
volume so that it is now writeable for the co- worker.

Answer:B

Explanation:

Question: 109

Dataonan AFF systemisreplicated using SnapMirror to a FAS system that is configured with NL-SAS-
based storage.

In this scenario, which storage efficiency is lost on the SnapMirror destination?

A. compaction

B. compression

C. aggregate-level deduplication
D. volume-level deduplication

Answer:B

Explanation:

Question: 110

Click the Exhibit button.

M oncommand System Manager

Type
E Dashboard ok 4dd Azgregate
E Applications & Tiers =
PERFORMANCE TIER CLOUD TIER
Applications
[
Storage Tiers e ‘
46.24 GB used of 202,06 GB{22%) 16.48 GB 0.0 GB used of 100.54 GB 100.54 GB
E Storage »

.‘z-. Network »
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Your customer has recently implemented a FabricPool solution
that uses the default configuration. They notice that no data has moved to the cloud tier. Your
customeris concernedthat FabricPool might not be functioning properly.

Referring to set up a SnapMirror

the exhibit, relationship with a daily

what is update schedule. You want

causing the to verify that the updates are

problem? being performed daily.

A. The Which two actionsinside
performa OnCommand System
ncetieris Manager would you ensure
not50% that the SnapMirror transfers
full. are occurring daily? (Choose

B. The two.)
performa
ncetieris A. Inthe Jobs window, verify
not90% that all manual Snapshot
full. copy operations have

C. The completed in the past 24
performa hours.
ncetieris B. Inthe Jobs window, verify
not75% thatall SnapMirror jobs have
full. completed withinthe past24

D.The hours.
performa C. IntheRelationships window,
ncetieris verify thattherelationship
not100% statewas brokeninthe past
full. 24 hours.

D. Inthe Relationships window,

Ans verify that the lagtimeis less
wer: A than 24 hours.
Explanatio
n: Answer:B,D
Explanation:
Question: r:AD_
111
You
recently
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